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changij S— 3
using computers to help them commit Crimesﬁli'l]i i‘(’:ﬁ’:ﬁ?;::‘l;lf)tf. Mdodern Criminalg are |
commit old crimes like theft of fraud .one issue that makes it z:rdmt s e o]
crime is that this type of offence is often more difficult to séive than t: gght CDmp.uter;
because the criminals are invisible apg their actions may pe hard to ;0"20“3' s
issue is that it is quite difficult o prosecute a computer‘criminal successful.l / ;ﬂOtherl
usually nothing is actually  stolen or physically damaged. In recent years )co ecause;‘
crime has increased as the number of people using the internet to buy thingrsn?):t:s
access their bank accounts has grown. This new type of business has att;acted techno-|
criminals who order goods without Pay or break into the computer systems of |
businesses and remove money to their accounts ,or send viruses which can seriously;
damage computers and the information they contain. These viruses can affect millions |
of people worldwide. Criminals can use the internet to plan crimes and pass ong_
confidential information more easily than meetings or telephone conversations.
Computers allow criminals access to millions of people whom they may persuade to payj

for something worthless.

Hestions:

Answer the following Ggu

I- Why has computer crime increased recently ?
2- How can viruses affect computers?
3- What may eomputer criminals conyince people to do?

Find words in the text which mean the followu
-t ex ime of lying or chaﬁng to get money.
pmething is true.

ormaftic 1ore easily.
gter criminals to pass on information mode ea |
l = i ey crigmes
e which makes it casier to solve computer crif
J LAY $



i~ ' -Hed the following text then do the tasks below:

% Besides the surgeon, the most important r'ngmber of the surglt‘.ﬂll:cam is the.
. anaesthetist. 1t isthis person's job to administer tll.e drugs that f.i nw.t'he Patient ¢,
| undergo surgery at all.Because surgery would be incredibly painful if a patjg,
. could feel what was happening,anacsthetics are the onlgi way to make surgery
. possible. Local anaesthetics are used forsmaller surgel:les. They only nump 4
. area of skin so the patient doesn’t feel theoperation as it happens. Genera)

Smay|

anaesthetics are much more serious. They paralyse thepaflents- and render them
unconscious so that a surgeon can operate much more easily,without fear of Suddep
movements that could cause an accident or harm the patient.

L “"Choose the correct answer a, b or ¢ :

. R i ' . ) ; ; - " : ¢ [ " 1 { ' ""t -‘|ﬂ & ?;‘--'3 »‘E;A v 3 . .
- 8- General anaethetics ... 1. make the patieny iccl. pain - 5. Iake e patient conggjy,
' .

[ v. paralyse the patient

i . . s o e y P By WA it By e 3 o
. 9- The surgery would be painful ... a. without anaethetics b. without the surgegy
¢ without anclean surface

L

“»Match two of the underlined words from the text to the definitions/ meanings below:

erson that élbng to pafticular grOp; |
11-To manage or organize.

{Complete the following sentences with information from the text:

12-Beside the surgery is the most important member of the surgical team...
13-The surgeon can operate much more easily when they ...

| 1- complete the following paragraphs/ sentences by filling in the gaps:

| 14-So when planners were designing the 24.5 kilometre Laerdal Tunnel ----- Norwi
15- safety was one of ----- main concerns ,
16-people have known for some time ------- the main factors which cause accidents i

1 longtunnels are tiredness and claustrophobia,

fillin the spaces with words from the list. Use each word once only:
| ﬂ{ms,chﬂdi(u . Cu i |

m‘f”' was born with a ........... mind. It made him
jimself ............... while he was still very young. He
“in school for ......... Ahree months because he was

ferent from the rest of the .........there, Some said he was {oolish, Others
ght hewas very clever.
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sontences as required in brackets:

2 5. 1 can’t ulec*p il nlghl ! . ;
3 16- Historians use av ety ws evidence of past civilisations iheo prassl mlee) |
17-How long have you heen mnrrivd ' 1 ,
18-Brides ravely make theiy own wedding dresses “Fiid v
29-1f you misuse the equipment, :
4  30- People write things in their diaries 56 that
Vill- Choose the correct words in brackets:
31- Can you hear someone | frartniig, Ttiingg @ gultar |
32- | can’t (make up with, put up | the noise of the traffic any longer. |
35 33-The authorities have 1usl glven Hw Liue wrecn) light to the building of a new airport. |
3 X~ gorrect the verbs in brackets: : e e

34- No rain (1410 In llu region for two years

35- The police » Godersiow ) two people so far today
36- As we (W

Mulniu we Cpe feross o small camp silg,
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I- Read the following text then do the tasks below:

. When large numbers of people move from their homes in country areas to find better-

paid jobs in towns and cities , the village and farms they once lived in are often left
empty .No one wants to buy homes there because they cannot make money out of
them. This phenomenon , which is called rural depopulation , can lead ¢t
- overcrowding in cities as well as to fewer people in country areas. One example of this

phenomenon is the Garrigues area of Spain, about one hour’s drive from Barcelona |
. the area has a Mediterranean climate , but because it is high and not close to the sea,

winter temperatures are quite low. The area has an annual rainfall level of 482 mm
which falls in only 47 days of the year, during the autumn and spring historically ,this
- was a successful agricultural areas; on the higher ground. The famers grew almonds
- and vines, while in the river valleys , wheat , corn beans and sunflowers were the
traditional crops. The area was particularly well-known for its high-quality olive oil
- which was grown mainly for export. The population of the area was at its highest

about 150 years ago. When a typical village might have 500 inhabitants whereas now
some villages have as few as100 permanent inhabitants but as farming became less
and less profitable, and unemployment grew. the population began to move to the
cities to find work . this trend started in 1860 and has continued to this day. Now

some village consist mainly of elderly people. The area is suffering from the effects of
depopulation , such as poor public services and deserted farms.

1- What was Garrigues famous for ?

2- How can depopulation affect the city and the country?

3- Why did peo Mto move out of Ga_rrigues?

Find words in the text which mean the following:
A yearull l\;' S
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There are different methods of disposing of waste like incineration and recyding The |
wrnmg of solid waste is called incineration, This process has some advantages over ;
jpadiilis. Incinerators take up less space and do not pollute groundwater. The heat |
Pmduud by burning solid waste can he used to generate electricity. Unfortunately, |
incinerators also have disadvantages. For example, they release some pollution into the
air. And although incinerators reduce the volume of waste by as much as 90%, some
waste still remains, and this has to he disposed of somewhere. Incinerators also cost |
much more money to build than landfills, The process of reclaiming .o« materials and |
reusing them is called reeyeling, Recyeling reduces the volame of <o) waste. Recycling
also saves the energy needed to obtain and process raw materials, Most recycling
involves four main categories of product: metal, glass, paper and plastic.

Choosethecomamwera.borc

i 8. lncmeratum ha\tuu Many ......... 16 - ' ¢.solid
'% 9. Recveling ......... the volume of solid waste br. in ¢. spreads

Mazchmmmumunedmmmmwme definitions/ meanings below

10.An area of land where amounts of waste material are buried under earth.

12. The heat resulnnf., from hurnm',_ wlul waste hl'p\ to

...............

13. The energy we need to process raw materials is saved by

5!
3 11. Hard or firm |
3 Complete the iolloMng sentences wlth Infom\ation llom the texi ‘
3
:

fomplete the following paragraphs/ sentences by filling in the gaps:

-1t is essential that drivers and their passenger are able to get of a tunnel if

there is an accident or fire. :

15- We have two recommendation$ Whiﬁh " hﬂp make thii P
tunnels should - made wide enongh

Koo turn round and po baek -
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{V- fill In th(-:spaces with words from the list. Use each word once only:

y-

B s

l&i‘d sefentisg, post discoyery, treanny
17-The Curies were given the Nobel Prize for their great .......... , but they were too ifl

_tegoto
8. Stockholm to receive it. They ...... the money for further experiments on the uses
of radium.
9. They found it could be used i ....cooovenne diseases. Pierre died
20. just after he had been offered a good ......... . at the Sorbonne.

.V-complete the following dialogue by writing suitable questions or answers. Write at

" least three words for each question:

'/////////////////{(

T e ————— e 1 s s kL

5- I'm really tired, but I can’t sleep at night. (use 7w ish™)
26-They designed the tunnel to carry 450.000 vehicles a year. (make the passive
37- 1 won't be able to test my own eyesight. (use the causative verb “have™)

28- Can | go out with my friends. “she asked h

Vii-

ooooooo

Qf.penple have { mathematical, mpthemation] brains.

€ was (1uking. doing) research for an article.
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L ; ranslate the fo|lqwin§3;'§§m§nce into English:

h i

38—&-1\.&4\ B g gt (pa Loy 4y 3uNAGY d.ﬁ.u.ug.n.\\ 1488

§ " Do you think companies should allow their employees to use work

& computers for their own purposes "

8
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I - Read the following text then do the tasks below:

The first paper was made from cloth nearly two thousand years ago in china . although

paper can be made from all kinds of materials , such as cotton fibres . grass or sugar

cane. These days wood pulp is the material most commonly used to make * new paper’

that is paper which contains no old or recycled. The modern world uses so much paper
that environmentalists have persuaded us that we should recycled old paper . there is
an increasing awareness in Syria of the need to recycle both paper

and other materials. Paper recycling containers can now be found in some

parts of the country and some government agencies have begun paper recycling

programmes. Also , there is greater education in schoold about the need to take care of
pur environment.

gquestions
1- When was the first paper made?

2-Which material is the most commonly used to make “new paper”?
3-How much paper does the modern world use?

Find words in the text wmch mean the followmg

i- Wood after it has been crushed.
5- A very small piece of paper. Wood, cloth, etc.

Rewrite these sentenoes about the text to oorrect the lntormatuon

b-Thele is an increasing awareness in Spain ol the need to recycle paper.
7-Paper recycling containers weren’t found in government agencies.

ll- Read the following text then do the tasks below:

Antibiotics  are incredibly useful and they have transformed modern medicine.

Hovsever, there is a danger that we use them too much. The more we use antibiotics,
: : 1a they fight get used to them and build up a resistance. There are
y this might happen. Often patients stop taking a course of antibiotics
rt to feel better but before all the bacteria have been eliminated. This
the bacteria that survive are the strongest and most resistant. These
it bacteria will multiply and -1 1/ and, in future, will not be eliminated by the
¢ antibiotics. There is a real danger that these new “superbugs” could cause
ses that antibiotics are unable to fight. Tt is very important not to overuse
4 atibiotics in order to prevent bacteria from becoming too -t . Try to avoid
antibiotics unless strictly necessary and, if you are taking them, make sure you take

AAAA
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mking anuhlotics, one should use :

b. most of them Lo N, Tag m

ch two of the un .
Mat derlined the laxt to the words from deﬂmnons/ meanings below

0. Not al'fected by sometth
: .rd,l. Covers a larger area than before
s . -

Complete the following sentences with information from the text: |

12.Resistant bacter ia cause illnesses that.,

13. W ashing vour hands enables vou to ..........

horn in the country

]S'ﬂnd for the first cighteen vears ol

F 16-was in the middl naow here.
B R < e : ’
17. Louis Pasteur was 2 ___boy, although his
18.teachers said hé was slow and alWays ....o.oee the rest of his class. The reason for
this was simple: Louls
he did, He wanted to Sogsith :

19.was very careful in ..
20.understand all that he .........s

and he asked man) question!«}, el N
et T

melete the following dialogue by writing suitable quesuons or answers Write af

ieast three words for each questlon
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Vili- Choose the correct words in brackets

31- He showed musical ablllty (at, in) a very early age.

32- (In comparison with, Wherea qupelmankets small shops offer customers avery
personal service.

33-A country where the sun shines has a dry !

IX-correct the verbs in bracket

34-While she (play) tennis, she hurt her ankle
3S- The police (stcp) you if you drove too fast.
36- When she (graduate), she will get a new job

- Translation:Translate the following sentence into Arabic:

37. The snmulatmg eéffects of caffeine are caused by a central nervous reactlon." !

f"

Translate the followmg sentence into Englnsh




compu:?v: :‘:rime has increased as the number of people using the internet
;71_. haS gr s )
I, Viruses can seriously damage computers and the information they

contain.

‘v 3 They may convince people to pay for something worthless.
): . fraud 5. prove _
Y cﬁminal§ can use thellnternet to plan crimes and pass on confidential
information more easily.
, one issue that makes it hard to fight computer crime is that this type of
offence IS often more difficult to solve .

[ &
9.2
'% 10. Member
4 44, administer
7 12.is the anaesthetist
| i 13. paralyse the patients and render them unconscious.
7 14.in15. their16. Which17. curious
% 18.questions
19.only

20. children
% 21. What does your sister looklike? |
3 22-What does she do? ]
1 23. How did they produce their CD? 2
24. Why was she absent? y
25. | wish | could sleep at night.
26. Artifacts are used by historians as an evidence of past civilisations .
27.She asked them how long they had been unmarried |
28. Brides rarely have their wedding dresses made. '
29. it won’t work properly - |
30. they don’t forget the important events.
31, Strumming32. put up with b

T P
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. the area has a Mediterranean climate. Historically, it was a successful
agricultural area.
2. The villages and farms are left empty.
. Because farming became less and less profitable.
4.deserted 5.annual
. Historically, Garrigues was a successful agricultural area. _
7. The area has an annual rainfall level of 482 mm which falls in only 47 days

\

~of the year, during the autumn and spring
B. a
D. a
10. Landfill
11. Solid
12.generate electricity
13. recycling.
14. Out15. be16. the
17. discovery
18. used
19. treating
20. post
21. How much plants do gazelles eat per day?
22. Why can gazelles escape predators?
23. Where do sand gazelles live?
24. Are gazelles wild animals?
25. | wish | weren’t so tired so that | could sleep at night.
26. The tunnel was designed to carry 450,000 vehicles a year.
27. | won’t be able to have my own eyesight tested.
28. She asked her if she could go out with her friends.
9. | had to post a letter.
0-the soil becomes unproductive.
1. mathematical32. Doing33. of
. ing35. Thought36. had been
34.have been trying _ mwimuaﬂus g&&)@iwuﬂiwkﬂr‘*@J
. Traditional music has lost some of its popular among young p?o“pic. |
el sl Y Jand) gl g3 1135l gl gl grandd O S 6 Wl O gy
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aper was made nearly two thousand years ago

Jip is the material most commonly u '
pem world uses s0 much paper Y used to make new paper

A erﬁ s an increasing awareness in Syria. |
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30 resistan!

11: spread_ g . H
2 hat antibiotics are unable to fight.
.:3' make sure you kill all of the resistant bacteria.

14. was

15.my

16. of

7. bright

: 18. pehind

| 19, everything

20. studied
21, HOW much waste does Australia recycle?

22, What is green waste?

23. When did you visit the Eden project?

24. How much children do you have?

25. | wish the city centre weren’t sO busy.

26. Nadia asked Zeina if she had enjoyed her holiday.

77. Passengers to Amman Jordan are transported with the

train station.
28. My father has his car cleaned.
29. they can grow Crops:
30. 1 heard the news.
. at
32.in comparison with
; _.‘climate
% was playing
*. Would stop

o C R e e ot

famous Hejaz

Lt
e et . i




